JL_

|dentifier la Régle (2 Etapes) Nom:
Déterminez quelleréglereprésente le mieux I'expression. Réponses
1) | Saisir(T) | 13|10 |14 | 15| 9 | A.Tx6-8 B.Tx5-11 .
Sortir 8| 5|9 |10 4| CT-5 D.Tx5+7 '
2.
2) | Saisir(N) | 5|9 |10| 8| 4| ANx5-9 B.Nx9 ;
Sortir 16 | 36 | 41 | 31| 11| C.Nx9+9 D.Nx5 '
4,
3) | Saisr(K) | 4 |10 9 | 5| 8| AKx3-9 B.K x2 :
Sortir 17 |29 | 27 |19 | 25| C.Kx2+12 D.Kx2+9 '
6.
4) | saisr(U | 4| 8|10 5| 9| AU+4 B.Ux4+9 ,
Sortir 25|41 | 49| 29 | 45| C.Ux9 D.Ux4+11 '
8.
S) | Saisir(z) |10 5| 9| 8| 4| A.Zx6-9 B.Zx7-8 o
Sortir 16 | 11 | 15| 14 | 10 C.Z+8 D.Z+6
10.
6) | Saisr(d) | 8 |10 9| 4| 5| A.Jx6 B.Jx6+10
Sortir 48 | 60 | 54 | 24 | 30 | C.J+7 D.Jx6-6
)| Saisir(S | 4| 8] 9|10| 5| A.S+4 B.S+8
Sortir 8 |12 13| 14| 9 | C.Sx8 D.Sx 4
8 | Saisr(R) | 4| 9 |10| 8| 5| ARx7-11 B.Rx7-9
Sortir 19 | 54 | 61 | 47 | 26 | C.R+7 D.Rx9
9) | Saisr(L) |10| 8| 9| 4| 5| ALx9-12 B.Lx9
Sortir 9 | 72| 81|36 | 45| C.L+10 D.L x 8- 10
10) | Saisir(P) | 8| 9| 4 |10| 5| APx2+5 B.Px5
Sortir 21| 23| 13| 25| 15| C.Px4-5 D.P+2

Maths ] www.CommonCoreSheets.fr

1-10 90|80 70|60 |50]40]30]20[10] O |




JL_

|dentifier la Régle (2 Etapes) Nom: Clé
Déterminez quelleréglereprésente le mieux I'expression. Réponses
1) | Saisir(T) | 13|10 |14 | 15| 9 | A.Tx6-8 B.Tx5-11 . C
Sortir 8| 5|9 |10| 4| CT-5 D.Tx5+7 '
> A
2) | Saisir(N) | 5|9 |10| 8| 4| ANx5-9 B.Nx9 ; D
Sortir 16 | 36 | 41 | 31 | 11 C.Nx9+9 D.N x5
4. B
3) | Saisr(K) | 4 |10 9 | 5| 8| AKx3-9 B.K x2 : D
Sortir 17 | 29 | 27 |19 | 25| C.Kx2+12 D.Kx2+9 '
6. A
4) | saisr(U | 4| 8|10 5| 9| AU+4 B.Ux4+9 , A
Sortir 25|41 |49 |29 | 45| C.Ux9 D.Ux4+11
g. B
S) | Saisir(z) |10 5| 9| 8| 4| A.Zx6-9 B.Zx7-8 o B
Sortir 16 | 11 | 15| 14 | 10 C.Z+8 D.Z+6
0. A
6) | Saisr(d) | 8 |10 9| 4| 5| A.Jx6 B.Jx6+10
Sortir 48 | 60 | 54 | 24 | 30| C.J+7 D.Jx6-6
)| Saisir(S | 4| 8] 9|10| 5| A.S+4 B.S+8
Sortir 8 |12 |13 14| 9 | C.Sx8 D.Sx 4
8 | Saisr(R) | 4| 9 |10| 8| 5| ARx7-11 B.Rx7-9
Sortir 19 | 54 | 61 | 47 | 26 | C.R+7 D.Rx9
9) | Saisr(L) |10| 8| 9| 4| 5| ALx9-12 B.Lx9
Sortir 9 | 72| 81|36 | 45| C.L+10 D.L x 8- 10
10) | Saisir(P) | 8| 9| 4 |10| 5| APx2+5 B.Px5
Sortir 21| 23| 13| 25| 15| C.Px4-5 D.P+2
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